2 holes 180° to
each other on
H-PCD

HPCBH0201-40-623 | 3 | @10x7Dp | 8.5 | 11 | 40 | @22x3 97.5x4.5Dp
(M4 Capscrew)

HPCBH0201-40-634 | 4 | G16x8Dp | 814.0 | 11 | 40 | gooxg| 27:5%45Dp
(M4 Capscrew)

HPCBH0201-40-625 | 5 | g16x8Dp | @14.0| 11 | 40 | @22x3 97.5x4.5Dp
(M4 Capscrew)

HPCBH0201-40-606 | 6 | @17x9Dp | @15.0| 11 | 40 | goxg| 27:5x4-5Dp
(M4 Capscrew)

HPCBH0201-58-608 | 8 |022x11Dp| 019.5| 16 | 58 | paexa | 29-5%5-5DP
apscrew,

(M5 C )

HPCBH0201-58-6000| 10 |@26x12Dp| @24.0 | 16 | 58 | @3exa | 29->X5-5DP
(M5 Capscrew)

HPCBH0201-58-6201| 12 |@32x14Dp| 828.0 | 16 | 58 | @36xa | 22-0X5-5DP
(M5 Capscrew)

HPCBH0201-94-6202| 15 |@35x18Dp| 833.0 | 25 | 94 | geexs | 212 0x8:50p
(M8 Capscrew)

HPCBH0201-94-6003| 17 |@35x17Dp| ©33.0 | 25 | 94 | @66x6 915.0x8.5Dp
(M8 Capscrew)

HPCBH0201-94-6004| 20 |@42x19Dp| ©38.0 | 25 | 94 | @66x6 915.0x8.5Dp
(M8 Capscrew)

HPCBH0201-04-6005 25 |@47x19Dp| 843.0| 25 | 94 | geexs | 21>-0x8:5DP
(M8 Capscrew)

HPCBH0201-94-6006| 30 |@55x20Dp| 850.0| 25 | 94 | geexe | 21>-0x8-5DP

(M8 Capscrew)




Shafis & Bearings
Single Housed Bearing Assembly (Double Flat)

HPCBHO2 - With Circlip Retainer

P ! -
B o 80 o 3B eC (7]
1 ' =
THD ~~ $
Chamfered on all external corners ./~
T3 R e T on T me o] 0
LstPice | 5% 10% S M T
— PRICE ;)
Bearing XX in
THD Pesrrithy N F EA:_CSH g
HPCBH0201-40-623 30 84.20 62322 24 | 3 | g2183 5’
(M5) 3x10x4 Q
94.20 634zz
HPCBH0201-40-634 30 oy Pt 24 | 3 | w18 1y
HPCBH0201-40-625 30 4.20 62522 24 | 3 £27.83
(M5) 5x16x5
HPCBH0201-40-606 30 252y ez 24 | 3 | g2783
(M5) 6x17x6
HPCBH0201-58-608 46 | 9520 6082z 4 | 4 | s3a54
(M6) 8x22x7
HPCBH0201-58-6000 | 46 05.20 60002z 40 | 4 | e3454
(M6) 10x26x8
95.20 62012z
HPCBH0201-58-6201 | 46 o ez, | a0 | 4| e
HPCBH0201-94-6202 | 78 | 9850 62022z | o7 | 7 | g5ag2
(M10) 15x35x11
HPCBH0201-94-6003 | 78 98.50 60032z 67 | 7 | s£5482
(M10) 17x35x10
98.50 60042z
HPCBH0201-04-6004 | 78 o | conszaz | 67 | T | w2
HPCBH0201-94-6005 | 78 | 9850 60052z | o7 | 7 | g5ag2
(M10) 25x47x12
98.50 600622
HPCBH0201-94-6006 | 78 o | soseaa | 67 | T | w2

Unit 14, Foxwood Industrial Park, Foxwood Rd. Chesterfield, Derbyshire $41 9RN

Telephone +44(0)1246 268080 Fax +44(0)1246 260003




